Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 111 « EXAMINATION - SUMMER- 2017

Subject Code: 3332002 Date: 3-05 -2017
Subject Name: DIGITAL CIRCUITS
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol AU,
Convert Decimal no. (25.10)10 to Octal.

SUHA (25.10),, A A s2cHL $RA.

Convert Decimal no. (612)10 to Hexadecimal.
3UlUA (612),, A dsu3AHAHL ¥Ral.

Convert Decimal no. (100)1o to Binary.

3AHA (100),, A oltUeA ML 4.

Convert Binary no. (100101), to Octal.

wl24ai3] (100101); of BUSSAHL JUIAR 3.
Convert Binary no. (10101). to Hexadecimal.
wl2at3l (10101), of dsUSUHAHL FUidR 53
Convert Binary no. (1011011) » to Gray code.
oll2dat3l (1011011),95 A SLSUL RULAR 83
Draw symbol and logic equation of NAND logic gate.
NAND el lielld dal Aps UHls01 Anl.
Draw symbol and logic equation of OR logic gates.
OR d2all Alld daul As UHs01 Anl.
Perform Binary Addition: (10011), + (11011)
olldet3] URalol 8. (10011), + (11011),
Convert Gray code no. (101011) to Binary.

3 8ls oleR (101011)e] GllAAML FUlAR 83U
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Q.2 State and prove any one De-Morgan’s theorem.
sl () S uel As S-00Metell YR il daul AUAd 3.

OR
(@  Simplify following logic equation using Boolean Algebra.
F=AB+A’B+ AB’+A’B’+B
@) Aot AeBloll Heedll ollAotl 5N AEIU WL,

F= AB+A’B+ AB’+A’B’+B
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Solve F(A,B,C) =Ym(3,4,5,7) using K-map
o{lAotl M2 SRAU AU EWRL F(AB,C) = Ym(3,4,5,7)
OR
Solve F(A,B,C,D) = A’BC + BC’D + A’C’D’ using K-map
o{lActl M2 sRellU AU EWRL. F(A,B,C,D) = A'BC + BC'D +A'C’D’
Solve F(A,B,C,D) =>¥m( 2,3,8,10,11,12,14,15) using K-map
o{lAotl M2 SRellU AU EWRL F(A,B,C,D) = Ym(2,3,8,10,11,12,14,15)

OR
Explain positive & negative logic system.

WEBRA A ARl Qs R uHsLAl
Draw symbol, truth table & logic equation of EX-NOR & EX-OR gate.
EX-NOR el EX-OR Jl2 oil dotl 1ol ga 2uldt da gcllauet

Als0L cul,

OR
Using NAND gates, design AND gate & NOT gate.

NAND 2ol GUQaL $3lal AND el NOT e tleilcll.

Explain Half Adder with logic diagram.
Sls WS %S SIADUH UL yHLal.

OR
Explain Half Subtractor with logic diagram.

8lS UL-2522 S SIALULH UL YLl
Simplify following logic equation using Boolean Algebra.
AB’(C+BD) + A’B’=B’C
dlQaet AeBulell Heedl ollAotl M5V ALEIU WL,
AB’(C+BD) + A’B’=B’C

OR

Simplify following logic equation using Boolean Algebra.
F=AB+ABC+A’B+B’C

olQaet AeBulell Heedl ollAotl M5V ALEIU WL,

F= AB +ABC +A’'B+B’C
Write a short note on Full-Adder.

S AS UR @5 ol Aul.
OR
Write a short note on Octal to Binary Encoder.

vllsed Ul cllaatd] Wosls UM,

Write a short note on De-Multiplexer.
Sl-U@WASUR UR &5 ol Aull.

OR
Write a short note on Multiplexer.
HEWASUR UR &5 ol AWl
Explain T flip-flop.
T HEAU-5AU AMesAl,
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Write a short note on clocked D-flip-flop.
sAlss Sl-(EAU SAU UR &5 ollu Aull.
Explain Clocked RS flip-flop in details.
sAllsS RS (SAU-SAU U1,

OR
Explain JK flip-flop.

JK (5AU-5AU ALl
Explain Universal logic gate with examples.
Yollalet Al®s N2 BelgNL A AHsLAl.

Write short notes on Shift register.

Qs AP UR &5 ol Gl

Compare Half adder with Full adder circuit.

8ls ASR U gt WS Usleo(l uuHgll 52

Explain Shift left register using D flip-flop.

Sl BEAU-5AUsll GUaL s3la [Alse Age AR AMsLAl.

Compare Combinational logic circuit and Sequential logic circuit.
siolAelcdt Qs WA Alsadlad As UuSle ol wRuwuHel s
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